
IN BEHANDELING

0110502

0110501

0413031

7112090
8212100

Order-nr. Description Number
0110501 freestall divider PROFIT 190 cm, frame only 1

0110502 foot for PROFIT divider 60mm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise. 
No rights can be derived from this drawing.

Number: 0110500-O

Unit: mm

Date: 21-9-2015

freestall divider for cows PROFIT 190cm

UK



 min. 65 

 min. 65 

optional position

 * 

 min. 2300 

 1904   250 

  1800 

  2100 

 2
50

 

 8
00

-1
00

0 
 1

30
0 

150+-200+

P=0

2-4%

 1150-1200 

0421015
0409020

0407050

1015600

01921xx

1111240

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

page 1 of 3

item no. description
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106
01921xx waved neck bar, complete - 2x...cm

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110500-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 190

UK



 * 

 min. 2300 

 1904   250 

  1800 

  1950 

 2
50

 

 8
00

-1
00

0 

150+-200+

P=0

2-4%

 min. 65 

 min. 65 

optionele positie

 1000-1100 

0421015

0409020

0407050

1015600

1111240

18-22 mnd

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

page 2 of 3

item no. description
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110500-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 190

UK



 * 

 1900 

 8
00

-1
00

0 

 250 

 2100 

 1
30

0 

 2
50

 

 2300 
 1800 

P=0

 min. 65 

 min. 65 

optionele positie

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1111240

page 3 of 3

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110500-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 190

UK



IN BEHANDELING

0110502

0110511

0413031

7112090
8212100

Order-nr. Description Number

0110502 foot for PROFIT divider 60mm 1
0110511 loose cubicle partition PROFIT LS 206cm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110510-O

Unit: mm

Date: 21-9-2015

freestall divider for cows PROFIT 206cm

UK



 min. 65 

optional position

 * 

 min. 2400 

 2064   250 

  1800 

  2100 

 2
52

 

 8
00

-1
00

0 
 1

30
0 

150+-200+

P=0

2-4%

 1150-1200 

0421015
0409020

0407050

1015600

01921xx

1111240

 min. 65 

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

page 1 of 2

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110510-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 206

UK



 * 

 2060 

 8
00

-1
00

0 

 250 

 2100 

 1
30

0 
 2

48
 

 2500 
 1800 

P=0

 min. 65 

optionele positie

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1111240

 min. 65 

page 2 of 2

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110510-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 206

UK



IN BEHANDELING

0110502

0110514

0413031

7112090
8212100

Order-nr. Description Number

0110502 foot for PROFIT divider 60mm 1
0110514 loose cubicle partition PROFIT LS 216cm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110513-O

Unit: mm

Date: 21-9-2015

freestall divider for cows PROFIT 216cm

UK



 min. 65 

optional position

 * 

 min. 2500 

 2164   250 

  1800 

  2100 

 2
52

 

 8
00

-1
00

0 
 1

30
0 

150+-200+

P=0

2-4%

 1150-1200 

0421015
0409020

0407050

1015600

01921xx

1111240

 min. 65 

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

Stall width 1100-1150 center to center

*  Dimension is based on the use of Dunlomat, waterbed or sawdust 
as bedding. At the use of so-called cow mattresses, this dimension 
has to be adjusted, depending on the thickness of the mattress, with 
a filling ring.

** In case of measurements between 200 and 450 mm, the space 
needs to be filled to avoid cows from being trapped

page 1 of 2

item no. description
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106
01921xx waved neck bar, complete - 2x...cm

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110513-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 216

UK



 * 

 2160 

 8
00

-1
00

0 

 250 

 2100 

 1
30

0 
 2

48
 

 2500 
 1800 

150+-200+

P=0

 min. 65 

optionele positie

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1111240

 min. 65 

*    Gemeten vanaf de bovenkant van het matras
**  200-450mm tussenruimte opvullen 
      om beknelling te voorkomen

page 2 of 2

* In case of measurements between 200 and 450 mm, the 
space needs to be filled to avoid cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1111240 floor anchor, hot dip galv. - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110513-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 216

UK



IN BEHANDELING

0110602

0110603

0110501

0413031

7112090
8212100

Order-nr. Description Number
0110501 freestall divider PROFIT 190 cm, frame only 1
0110602 foot for Profit-deep bedding divider 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110600-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 190, deep bedding

UK



 min. 65 

 min. 65 

position optional

 * 

  250  1900 

  1800 
 min. 2200 

 2100 

 2
50

 
 8

00
-1

00
0  

13
00

 

 
 1

50
 

 1150-1200 
01921xx
0407050

0409020
0421015

1015600

1111440

* In case of measurements between 20 and 
45 cm, the space needs to be filled to avoid 
cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110600-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 190, deep bedding

UK



IN BEHANDELING

0110602

0110603

0110511

0413031

7112090
8212100

Order-nr. Description Number
0110511 loose cubicle partition PROFIT LS 206cm 1
0110602 foot for Profit-deep bedding divider 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110610-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 206, deep bedding

UK



 min. 65 

optional position

 min. 65 
 * 

 250 

 1800 
 min. 2350 

 2060 

 2100 

 8
00

-1
00

0  1
30

0 

 
15

0 

 2
50

 

 1150-1200 

0421015

0409020

0407050
1015600

01921xx

1111440

* In case of measurements between 20 and 
45 cm, the space needs to be filled to avoid 
cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110610-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 206, deep bedding

UK



IN BEHANDELING

0110602

0110603

0110514

0413031

7112090
8212100

Order-nr. Description Number
0110514 loose cubicle partition PROFIT LS 216cm 1
0110602 foot for Profit-deep bedding divider 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110613-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 216, deep bedding

UK



 min. 65 

optional position

 min. 65 
 * 

 250 

 1800 
 min. 2350 

 2160 

 2100 

 8
00

-1
00

0 

 1
30

0 

 
15

0 

 2
50

 

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1111440

* In case of measurements between 20 and 
45 cm, the space needs to be filled to avoid 
cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110613-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 216, deep bedding

UK



IN BEHANDELING

0110702

0110603

0110501

0413031

7112090
8212100

Order-nr. Description Number
0110501 freestall divider PROFIT 190 cm, frame only 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0110702 foot for Profit-deep bedding divider 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110700-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 190, foot +16cm

UK



 min. 65 

optional position

 * 
 min. 65 

 1900 

 min. 2300 

 2000-2100 

 1700 

 250 

 2120 
 8

00
-1

00
0 

 1
30

0 
 2

50
 

 1050-1150 

0421015

0409020

0407050

1015600

01921xx

1102700
1111440

* In case of measurements between 20 and 
45 cm, the space needs to be filled to avoid 
cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1102700 PVC protective sleeve 70mm

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110700-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 190, deep bedding

UK



IN BEHANDELING

0110702

0110603

0110511

0413031

7112090
8212100

Order-nr. Description Number
0110511 loose cubicle partition PROFIT LS 206cm 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0110702 foot for Profit-deep bedding divider 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110710-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 206, foot +16cm

UK



 min. 65 

optional position

 * 

 min. 65 

 2060 

 min. 2500 

 ca.2100 

  1800 

  250 

 2280 
 8

00
-1

00
0 

 
 1

30
0 

 2
50

 

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1102700
1111440

* In case of measurements between 20 and 45 cm, the 
space needs to be filled to avoid cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1102700 PVC protective sleeve 70mm

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110710-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 206, deep bedding

UK



IN BEHANDELING

0110702

0110603

0110514

0413031

7112090
8212100

Order-nr. Description Number
0110514 loose cubicle partition PROFIT LS 216cm 1
0110603 filling ring PROFIT-DS cows/heifers 160 mm 1
0110702 foot for Profit-deep bedding divider 1
0413031 plate for T-clamp 60x60mm, heavy version 2
7112090 hexagon-head bolt m12x90 galv. 2
8212100 hexagon nut M12 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110713-O

Unit: mm

Date: 21-9-2015

freestall div. PROFIT 216, foot +16cm

UK



 min. 65 

optional position

 min. 65 

 * 

 1150-1200 

0421015

0409020

0407050

1015600

01921xx

1102700
1111440

 2160 

 min. 2500 

 2100 

  1800 

  250 

 2380 
 8

00
-1

00
0 

 
13

00
 

 2
50

 

* In case of measurements between 20 and 45 cm, the 
space needs to be filled to avoid cows from being trapped

item no. description
01921xx waved neck bar, complete - 2x...cm
0407050 shoulder rail strap clamp 48x60 mm
0409020 strap clamp 48x60mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1102700 PVC protective sleeve 70mm

1111440 floor anchor, inox A4 - M12x106

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0110713-A

Unit: mm

Date: 23-11-2016

freestall div. PROFIT 216, deep bedding

UK




